Midterm Exam

KOC UNIVERSITY

MATH 102 - CALCULUS

May 6, 2005

Duration of Exam: 90 minutes

INSTRUCTIONS: No calculators may be used on the test. No books, no notes, no questions,
and talking allowed. You must always explain your answers and show your work to receive full
credit. Use the back of these pages if necessary. Print (use CAPITAL LETTERS) and sign

your name, and indicate your section below. GOOD LUCK!
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Problem 1

(1.a) (5 pts) Evaluate

[&¢h) de
e
et usix% 5(—05“-1&&:1@”@.:13@“@: Ashix v C.
du= L dx 0
BT
constant .

(1.b) (5 pts) Find
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(1.c) (5 pts) Which onc is higger:
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Problem 2 Find the derivatives of the following functions:
(2.a) (5 pts) y = arctan va? + 1
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(2.b) (5 pts) y = 5—cos(2e)
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(2.c) (5 pts) y = In(In{lnz))
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Problem 3

(3.a (15 pts) Find the arc-length of the curve y = In(secz) for 0 < 2
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(3.b) (10 pts) Find the volume of the solid obtained by revolving the region

bounded by the curves y = cosz, y = 0, x = 0 and & = T about the x-axis
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Name:

(3.c) (15 pts) Find the area of the region bounded by the curves y = 322 4+ 15
and y=06x + 24 for 0 < o < 5.
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Problem 4

(4.a) (10 pts) Evaluate
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(4.b) (10 pts) Evaluate
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(4.¢) (10 pts) Evaluate
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